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w1 T H 242 277 296 573|T 4 WHAT5 T H 518 596 605 1,201 % BT 7 T H 1,201 1,577 1,433 3,010 | A RT3 H 216 286 274 560
B W 2T B 374 415 411 826| T » WEMT6 T H 380 417 429 846|351 BT 8 T H 483 602 606| 1,208|/h | 4,445|  5,407|  5,499| 10,906
B w3 T A 290 352 350 702 s 9,307| 10,858 10,769 21,627|# BT 9 T H 966| 1,192 1,051 2,243| {RE1T H 102 107 112 219
FE4ET1T B 147 159 137 296 | IE 596 646 686 1,332|KJHET1 T H 127 117 116 233| _RE2T H 300 362 371 733
FasET2 T B 96 87 89 176|% EHT 1 T H 307 408 392 800|A AT 2 T H 328 371 363 34| RE3ITH 274 321 353 674
PE4ET3 T B 123 146 170 316|% EHT2 T H 595 702 672 1,374 5 8,339| 10,349| 9,480 19,829| " f%R4T H 126 132 157 289
£ L HT 280 278 308 586 |9 BT 3 T H 1,441 1,533 1,448| 2,981 |W 071 T H 796 930 894 1,824 " {RE5T H 95 124 124 248
N HT 417 431 442 873|% EHWT 4 T H 738 791 760 1,551 (3BT 2 T H 296 382 352 TR HE 1T H 74 82 80 162
fip L) 216 218 237 455K P9 1 T H 770 900 888 1,788 ({r D BT 3 T H 224 258 269 527|R # 2 T H 127 155 152 307
1= T 131 125 141 266( K P 2 T H 318 404 397 801 [ BT 4 T H 733 736 717 1,4533R 3 T H 117 125 122 247
* F W 182 218 236 454| K 9 3 T H 685 848 874 1,722 0 BT 5T A 729 740 739 1,479 |8 f& A AT 183 182 206 388
= fF HT 446 477 534 1,011 (¥ A 427 387 473 860 A HT6 T H 1,222 1,359 1,334 2,693(# & 1 T H 60 55 60 115
K o WE HT 495 563 574 1,137 |& 52 429 517 544 1,061 (3L BT 7 T H 1,093 1,092 1,163  2,255|4 & 2 T H 69 77 78 155
W/ kT 306 309 325 634|A % F1 T H 251 313 320 633 [ L BT 8 T H 768 878 732|  1,610(80 & (L 36 63 77 140
KB HET 517 607 585 1,192 K 8% F2 7T H 236 330 337 667 ({70 BT 9 T H 934 902 961 1,863 |/ a 1,563 1,785 1,892 3,677
HinfnE1T B 207 224 244 4684 ¢ 1 T H 479 695 649 1,344 ({0 BT10T A 840 779 762 1,541|% 1T H 409 289 325 614
HmEfnHE2T H 275 316 338 6544 F 2 T H 85 100 100 200 Ea 7,635 8,056 7,923 15,979|% [ 2 T H 92 99 101 200
HmEfiHE3T H 305 386 401 787|4 F 3 T H 332 462 425 887|#k & 1 T H 182 200 213 413|% [ 3 T H 253 189 190 379
Ft 5,049| 5,58 5,818 11,406|45 ¢ 4 T H 539 720 695 1,415\ #& 2 T H 940| 1,300 1,207 2,507/ K1TH 92 121 99 220
B AKRTL T H 232 283 286 5694 3 5 T H 463 608 616 1,224k 16 3 T H 335 431 431 862[/NEr AK2T H 46 58 60 118
By AmT2 T H 354 411 409 820 s 8,691| 10,364| 10,276| 20,640|4 # 1 T H 1,299 1,479 1,488  2,967|/h@ K3 T H 181 236 230 466
B AHET3 T H 207 281 275 556 | B i A 1 T H 478 463 524 987|454 H 2 T H 967|  1,094| 1,183 2,277|/h@K4T H 234 188 254 442
EWM1TH 697 714 755 1,469 |3 & M2 T H 821 818 865 1,683(4 # 3 T H 886 1,023 1,001 2,024 (/N A5 T H 73 81 96 177
Ei2TH 704 874 874 L7T48|W & M3 T H 1,074 1, 109 1,098 2,207(4 H#H 4 T H O R 1T H 203 173 209 382
EW3TH 379 522 518 1L,O4O|s & M4 T H 722 709 705 1,414(4 # 5 T H 183 56 161 207(8 R 2 T H 256 321 305 626
Ei4TH 777 869 962 1,831 & M5 T H 961 966 984 1, 950 G 4,792 5, 583 5,684 11,267[H R 3 T H 411 241 375 616
EW5TH 529 543 564 LTI & M6 T H 366 417 383 800 |/ | 51,494 58,778 58,036 116,814/ G 2, 250 1,996 2, 244 4, 240
E e T H 156 211 217 428\ » i1 T H 416 467 473 940 1 T H 348 439 402 841|pt A 1 T H 256 209 279 488
EW7TH 482 538 488 1,026 (4R » fi2 T H 797 728 852 1,580 1% 2 T H 424 475 511 986 A 2 T H 384 278 289 567
E 8T H 268 319 309 628l [ BT 1 T H 331 417 389 80614 1 3 T H 433 547 551 1,098k A 3 T H 110 138 133 271
EW9TH 3 4 3 7|6 [ BT 2 T H 698 834 825 1,659 (Fn HHET LT A 216 274 268 542|p A 4 T H 60 58 62 120
KHET1TH 310 372 353 725 |fifi fi BT 3 T H 556 599 549 1,148(Ffn HHET2 T H 273 331 352 683[ A5 T H 76 76 81 157
RKHEWT2T H 356 342 330 672|ff [ BT 4 T H 461 453 439 892(#F #F 1 T H 150 205 194 399(pk A6 T H 38 52 51 103
RKHEBT3T H 293 392 365 757 Gl 7,681 7,980 8,086 16,066 |fF # 2 T H 167 196 222 418\ A7 T A 72 89 90 179
KHEET4T H 317 388 396 78418 BT 1 T H 1,133 1, 403 1,321 2, 724 (M #F 3 T H 181 230 219 449(pk A 8 T H 103 128 104 232
K HEHBTS T H 299 359 368 7278 BT 2 T H 720 945 812 1,757 |4 %5 4 T H 209 250 249 499 [/ 2 1,099 1,028 1,089 2,117
T WERT1 T H 680 783 793 1,576 81 #] 3 T H 1,497 1,721 1,511 3,232|H # 5 T H 482 620 640 1,260 |t 3E Ff & & 9,357 10,216 10,724 20,940
T WHET2 T H 527 635 611 1,246 87 BT 4 T H 665 801 782 1,583 |#F %5 6 T H 495 660 598|  1,258|& 2+ 60,851 68,994| 68,760 137,754
T WERT3 T H 396 495 420 915(%¥r BT 5 T H 1,119 1,485 1,363 2,848 |4l AR BT 1T H 373 464 457 921
T WERTA T H 443 510 439 949(%¥r mT 6 T H 100 135 122 257 |4l AR BT 27T H 478 430 562 992




